Math 173 - Quiz 4 Name _key
February 11, 2016 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Find a vector-valued function whose graph is the line segment connecting
(4,3,9) and (1,1,7).

Pas (1-4)¢+ (-3)3 *U-"\Wa S e

N \

= "32-93—8\2 L ,._E(t)' (“\ 36“ * (3 9%

GENY

MS\og (‘-\,’5,‘%}: x / \ \ >
X= Y -3, Y=73 -9k, 2 -3¢

Ot &

‘2. (3 points) The line ¢ has symmetric equations given below. Find the distance from ¢
to the point (4, —6,—3).

-7 1
5 ?b T y+

-

k\\ )‘LP) 2

PQ ol j(ﬁ‘ﬂu (3) *(3\)

ITY \f(a\‘m»\\hm‘
tS l\ =
: \ 3 5 3
a3 w0
Sa- 3t 45743\ = 113 9)4 0 ) ]

= =78 +3%5+ 8% A 8
3. (4 points) Find an equation of the plane containing the points (1,1,1), (1,2, -3),
and (5, —1,3). Then find the distance from that plane to the point (2,2, 2).
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